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Note : (1) All questions are compulsory.

(iiy  Programming language : C'*

(11) Marks allotted to the questions are indicated against them.
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1. (@) 9% 91U/ &7 3TSeye Jasy —
Give the output of following program —
void main {)

{
char * p = “Difficult” ;
char c;
¢c=++*p+t;
printf (* % 7, ¢);
}
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Name the Header files of C+—+ to which the following functiens belong -
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Clarify the meaning of input and Quiput streams.
[11 [PT.C.

Downloaded from cclchapter.com




T N 0
EREE DU I [P P S A SO A
voital Gy L0 1.11&:.3.L.-’ REIOCI i [RERERRE
[ U NP
TN T TR
[ S 2 A
eyt Pt 1o HdELLTR
+ T Ted

sifwste URmE, $oeRT R

What are the advantages of Objuct Oriciiod Croganmng
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Writc differences in following —
() egaex 3 B o
Constructor and Copy Constructor
ay e wowE iR Wewl BaE

Friend function and member function
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Yrite 2 C--r function that converts & - digii nctal number into binary number.
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“wirte o O program: that displays the size of a fiie i bytes.
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What is visibility mode ? Write in brief.
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Find in given linear amrays —
A[S ;50 B[-5 : 10} Cl18]
@ U er W fhas velde ® 7
Find the number of elements in each array.
iy ufy e USE & 99 Tx¥ 300 § Td TS SR 4 T @ A[l1S], A[35] BV
SIcRRECREN
1f the base address of each address is 300, and the word size is 4, find the location of
A[15], Al35].
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Veri[y the following law using truth table —
X+ (Y +2)=(X+Y)~Z
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Write equivalent Boolean expression for the following logic circuit.
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Feduer the Dollowing Booelean function by using K-map —
FOALI DL D)= (0,1, 2. 4.5, 6,8, 10)
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Lixplain primary key, alternate key and candidate key with example.
fg) Reagad daafig @ G&v § qwsge| 5

Explain the Relationat Algebra briefly.
) fpel AR SOL FHEe @l fafagy

Write any four SQL commands.
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Write the full form of following —
(i) URL (iiy HTTP
) defaogy @ ufufd Hifow | Jefiey & go @1 W aaRy |

Define Bandwidth. Name the unit of Bandwidth.
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What do you mean by IP Address 7 How is it usetul in computer security ¥
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What is MODEM ? Clarif.
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Explain Short Message Service in brief.
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